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loop

sort(1000)

sort(5000)

hash(1000)

hash(5000)

loop 0.0149862 1.73333 39.57188467 155.3993497

sort(1000) 0.002062 0.029639 0.290818 0.60411

sort(5000) 0.01943 0.008839 0.146268 0.364953

hash(1000) 0.053333 0.061954 0.128329

hash(5000) 0.041643 0.078962 0.115469 0.369588333
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sort(50000)

hash(50000)
sort(100000)

hash(100000)

sort(500000)

hash(500000)
sort(1000000)

hash(1000000)

sort(50000) 0.59 1.62 8.18 39.90 

hash(50000) 0.81 2.10 16.30 118.83 

sort(100000) 0.52 0.75 6.76 30.61 

hash(100000) 6.11 9.49 28.31 80.40 

sort(500000) 0.33 0.63 4.15 16.98 

hash(500000) 10.42 10.52 17.62 26.32 

sort(1000000) 0.39 0.69 3.53 10.22 

hash(1000000) 13.47 16.11 21.43 27.84 
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